1.)  Amines can be classified as Bronsted-Lowry bases/Lewis bases/neither/both.  The smaller the pKb the                                                 the base.

2.)  Draw an example of a primary, secondary, tertiary, and a quaternary amine.

3.) Amines have                     hybridization, have a bond angle of                      , 

 have                                                 electronic geometry, and have 

                                                                           molecular geometry.

4.) Explain why racemic mixtures of amines cannot be resolved into enantiomers.  Explain how you could resolve a racemic mixture of amines into enantiomers.

5.) True/False:  All amines can hydrogen bond.  Explain your answer.

6.) Explain why ethylamine is water soluble while decan-1-amine is not.

7.) Explain why amines have high boiling points.  Explain why amines have lower boiling points than alcohols.

8.) Explain why cyclic amines are more basic than non-cyclic amines.

9.) Explain why tripropyl amine is less basic than trimethyl amine.

10.)   Explain why pyrrole is less basic than aniline.

11.)   Explain why aniline is less basic than pyridine.

12.)   Explain how you would separate a mixture of amine and amide.

